COPYRIGHT RESERVED MB — 201

2023

Time : 3 hours

Full Marks : 70

Candidates are required to give their answers in
their own words as far as practicable.

The figures in the margin indicate full marks.

Answer from all fhe Sections as directed.

Section—-A
(Multiple Choice Questions)
o'w‘mg':’

1. Choose the correct answer of the foll
2x10 =20

(i) Which of the following is best describes
Organlzatlonal Behavior ?
(a) The study of how organizations make a

profit.
(b) The study of individiual behavior within
organizations.
- (c) The study of how organizations interact -
.with the external environment.
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(d) The study of how employees interact
with each other.

(i) Which of the following is an example of a '

personality trait ?
(@) Intelligence (b) Gender
(c) Experience (d) Performance
(iii) Which of the following is NOT a stage in the
perception process ?
(a) Attention (b) Interpretation
(c) Retention (d) Execution
(iv) Which of the following is an example of
operant conditioning ?
(a) Leaming by observation
(b) Learning through trial and error
() Leaming through positive reinforcement
(d) Learning through classical conditioning

(v Which of the following is NOT a

characteristics of effective group dynamics ?

(a) Cohesion (b) Diversity

(c) Participation ~ (d) Communication
(vi) Which of the following is NOT a leadership

style ?

() Transformational (b)--Autocratic—

(c) Laissez-faire  (d) Passive

MO-19/2 (2) Contd.

(vii) Which of the following is a characteristics of
successful organizational change ?
(a) Resistance (b) Autonomy
(c) Flexibility (d) Stability
(vii)Which of the following is NOT a factor
influencing job satisfaction ?
(a) Pay
(p) Company reputation
(c) Workload
(d) Technology
(iX) Which of the following is NOT a type of
organizational commitment ?
(a) Affective (by Continuance
(c) Nommative (d) Passive
(x) Which of the following is NOT a
characteristics of organizational culture ?-
(a) Shared values (b) Formal rules
(c) Language (d) Physical setting
Section—-B
(Very Short-answer Type Questions)

2. Answer any four questions in short:  5x4 =20

}j} Define Organizational Behavior.- —
9«)( What is perception ?

MO -19/2 (3) (Turn over)




ijY What is operant conditioning ?
(iv) Name three types of leadership styles.
What is job satisfaction ?

(vi) Name th'ree types of organizational
commitment.

Section-C
( Long-answer Type Questions)

3. Answer any three of the following in detail :
| 10x3 =30

/(i)/ What is Personality and how does it

influence behaviour in the workplace ? - -

(y/ Discuss the various factors that influence
perception.

yExplain the concept of learning in
organizational behavior and its significance

in the workplace.

(iv) Discuss the various types of group dynamics
and their impact on organizational behavior.

(v) Discuss the role of leadership in
organizational behavior and the different
styles of leadership that can be employed to

--manage employees effectively.

J
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Candidates are required to give thelr answers in '
the:r own words as far as practicable. .

The ﬂgdres. in the margin indicate full marks.

Answer from all the Parts as directed.

Part A
(Objectuve Type Questnons)

1. Select the correct answer of the followmg
questions: . . . . .. .. 2x10=20
(@) Orgamsatlonal behawour mterprets people-

organisation relationship in terms of :

() Whole person -

~ (i) Whole organisation

| ~ (iii) Whole Social System
(iv) All of these A

XN = 27/2 Mg gRd ~(Tum over)
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(b) Organisational-behaviour models are.

concemned with : ’

~ (i) - Autocratic model(ii) Custodial model -

(ili) Supportive model (iv) Al of these
(c) Classical Conditioning theory of Learning is
given by : .
() ‘Ivan Pavlov (i) Skinner
(i) Adam Smith (V) Kohler
(d) Leédefship styles are concemed with :
(i).. Autocratic (ii) - Democratic
(iii) Participative . (iv) Allofthese -
(¢) Communication is transferof : - -

(i) Ideas "~ (i) Opinion-
(iii) Concept: (iv) Allofthese

(® On the basis of expressi_on, communication
of grouped into :
(i) Verbal communication
‘(ii) Written communication
(ili) Non-Verbal communication
(iv) All of these ‘
(g) Levels of conflict may be :
() Inter-personal conflict
(ii) ~ Intra-group conflict

XN=-27/2 - (2) . Contd.

_ (i) Intra-organisational conflict 3
(iy) Al of these e
(h) 'Fiedler'S'theory of Leadership is asi
" AP Contingency theory W(9)
(i) Behavioural theory 21
(iii) Situational theory w3 W
(iv) All of these i
(i) Forces of change can be : )
() People ‘
(i) Global compréséion
(iii) - Technology
(iv) Allofthese ...
0 brgénisational behaviour is :
(i). . A Science .
(i) AnArt
(iii) Science as well as Art
(iv) ‘None of these
" Part-B
(Short-answer Type Questions)
Answer any four questions of the following :
. : 5x4 =20
(@) What are the determinants of personality ?
b) Exblain the roles and skills of a Manager.
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(c) Explain various sources of conflict in an
organisation.

(d) Explain the term leadership.

(e) Why organisation need for a change ?
Discuss ?

(- Explain various barriers of communication.

Part-C |
(Long-answer Type Questions)

3. Answerany three questlons of the following :
10x3 = 30

(g) What do you ‘mean by Learning ? Explain
~ various learning theories in brief.

(b) Enumerate the Sltuatlonal theory of
Leadership.

() Define ‘Communication. - Describe
communication process.

(d) Explain why organisational change takes
place. Discuss how change can be
effectively managed.

(e) What do you mean by organisational

~ behaviours ? Describe importance of

studing organisational behaviour.

\/
0.0
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. '» | CandndatEs are neqwred to g:ve the:rénswers ih
\ ) :ﬁ the:rown words as faras pract:cable
.The f gures m the margm md:cate full mad(s 2. |

Answerfmm aM the Parts as d:rected

\ Part A
(Ob)ectwe Type Questlons)
Se\ect the oorrect answer of the fo\lowmg
e S A Ll 2x1o =20

; (a) Orgamsatnonal Behawour |s :"‘. -
(1) A Scnenoe R
(It) AnArt

/u) A Smence as wel\ as an Art

(lV) None ofthe above E o

A

o ;:
.

% 1

e KJ-2713 - MEAEAL . .' - (Tumo;ler;)'




(b) Communlcatron begfns w/th

U Encodmg

( H) Idea onglnat/on . |

(m) Decodmg 2 v
(N) Channel Selecﬂon

() A study of the culture and practices in g Py

d:fferent socretles is called

(l) Personahty
(n) Anthropology

A (m) Perceptlon -

(nv) Att:tude L -
v (d) Forces affectrng orgamsatlonal behawa.rtfr‘;-_

(:) People |
(n) Envmonment A “ : : : __"
(i) Technology -+

(w Al ofthe above ‘

Ko-zms -_'- (2) . Contd -
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(e) Seope of orgamsa’aonai Behavnour does not
\nc\ude IR

| 0) Leadership Sk TR
\5 (u) Percephon i ok
‘°o~\ .
’\)t{‘q
Sde—( /_\ )H‘Tedmology
| (f) In. present context challenges for
N orgamsahonai behaweur are_

(\) Employee expeotatlon
(u) Workforce dlversrty

(m)- Job- Destgn- i3

(m) Globahzatton GF o :

jy}/ Al of the above &% |

j‘-(g') T j _-; |s recogmsed as father off‘

“Human relatlon ARG LI E R
(l) Wllllam Gllbreth '\'. ‘. "
(u) HennFaon
(III) FW Taylor ©

})’ Elton Mayo
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‘(h) Contnbut\onls of human "_re\'gtﬁ’hs :-

movements islare *.
| (\) GreatDepressmn :  -
(\\) \.abour Movement L L
(\\\) \-\awthome stud\es :
Alof these o

() Organisatlonal Behawour is the study of

in the orgamsatlon

(|) Human
(u) Employer R L
({11 Human Beha\nour

('V) Employees S
G) OB does note w“mbmed to \mprove
(‘) Motwahon PO Rt TR SR CIR IS ST
(“) Efﬁmency
-9 tpanora 'e‘aﬁ°“s R
(w) Commun\cat\on QRN e



| Part— B
(Short-answer Type Queshons)

Answer any four quest\ons of the to\\owmg

) R 50 5x4 20 ..
(a) Exp\a\n the concept of Learmng |
Orgamsat\on ' -
(b) What de you mean by personahty ?
' D\scuss ' - -~ -

(c) Det'\ne “Gtoups a\ong wnth théirt;}pes-.
(d) D\scuss on the toplc “Grapevme

(e) What is: meant for Leadershlp ? What
L o g are the essentual traits of a leader ? ;

® .Outline’ the concept of organisational
_ change

Part c L

(Long-answer Type Questlons)

Z 3 Answer any three questlons of the fo\\owmg
. .’ . : o 10x3 30
(a) DISCUSS the cha\\enges and opportumt\es of
Orgamsatlonal Beha\nour

KJ 27/3 (5) R (Turn over)
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(b) Explaln the classlcal condltlomng theones of o

. Leamlng e '. » .

(c) What do you mean by Negotiatron ? Whrch
type of Skl"S are requnred for manager m :
Negotlatlon Process ? = t g nn g g a ‘

S

| "(d) Defir ine communlcatron Explam |ts process L 5,
|n detall . - '

(e) EnUmerate the behavroural theorles of
Leadershlp g B

\ wsV\
FU){“W’}MU\ |
‘V\mc‘(\w\\/cu ‘0(\\”\ |
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Time : 3 hours

Full Marks : 70

Candidates are required to give their answers in

their own words as far as practicable.
The figures in the margin indicate full marks.
Answer from all the Sections as directed.

Section—A

(Multiple-Choice Questions)

1. Choose the correct answer of the following :
2x10=20
(i) Which of the following is not a step in the

e T

research process ?
(@) Data collection

(b) Research design

(c) Data analysis

(d) Marketing

MO -20/2 | (Turn over)




(i) Whatis a research problem ?
(@) A statement of the research objectives
(b) A statemeﬁt of the research question
(c) A statement of the research hypothesis
(d) A statement of the research variables
(iii) Which of the following is a non-probability
sampling technique ?
(a) Simple random sampling
(b) Stratified random sampling
(}_:) Convenience sampling
(d) Cluster sampling
(iv) What is a questionnaire ?

(a) A form used to collect data in face-to-

face interviews

(b) A list of questions used to collect data’

from a sample

(c) A form used to collect data from a
group of people

(d) A form used to collect data from an

individual

MO - 20/2 (2) Contd.

(v) Which of the following is a primary data
collection technique ?
(a) Surveys
(b) Observation
’(c) Internal data sources
(d) Secondary research
(vi) What is data processing ?
(@) The analysis of data
(b) The collection of data
(c) The organization of data
(d) The interpretation of data
(vii) What is a research design ?
(@ A plan or blueprint for conducting

research
(b) Aplan foranalyzing data
-(¢)” Aplan for collecting data
(d) A plan for selecting a sample
(viii)What is the purpose of a business research
report ?

(@) To summarize the research findings

MO -2072 (3) (Turn over)
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(®) To present the research methodology

(©) To provide a detaileq account of the
Tesearch process

(d) Al of these

(ix) \;\Ihat is the difference between quantitative
and qualitative research ?
(@) Quantitative research focuses on

nNumerical data, while qualitative

research focuses on descriptive data
(b) Quantitative research involves statistical

analysis, while qualitative research
does not

(©) Qualitative research is more objective
than quantitative research

(d) None of these
(¥) Whatis a Sample ?
(a) A subset of the population
(:)) The entire population
(c) A group of individual
(d) A group of businesses

Contd.
MO — 20/2 (4) °

Section-B
(Short-answer Type Questions)

Answer any four questions : 5x4 =20

(i) What s the difference between exploratory

and conclusive research ?
@, What is a research hypothesis ?

(i})/What is a probability sampling technique ?
@ What is a scale in research ?

(x)7 What is data analysis 7

(Vi) What is the purpose of a pilot study ?

Section—-C
(Long-answer Type Questions)
Answer any three of the fo!

(i)

llowing: 10x3 = 30 -
X

plain the Tesearch process in detail,

«

(# What are the different types of research
designs ? Explain with eXamples,

(iii) Discuss the varioys Sampling techniques
used in research,

MO - 2072

(5)
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(ivy What are the different types of data
collection tools used in research ? Explain
with examples.

(v) Explain the steps involved in writing a

business research report.

L0
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' Time 3 hours

Full Marks 70

Candldates are required to give thelr answers in
.their own words as far as practlcable S

The figures in the margm indicate full marks

Answer fmm_all the Sectlon as dmected.
Secﬁen -A _’ |
(Objeetive Type Questions)

1. Select the correct answer of the following :
’ A 3 ' 2x10=20
(@) Questionnaire s filled by :
() Respondent | (i) Researcher
(i) Everyone (i) None of tnese

(b) How can we enhance the Research
~ Objectives ?

~ (i) By making it more valid |
(i) By making it more reliable - -

|

XN~28/3 . (Tumover)
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(iiiy By making it more impartial
(iv) Allof these
© Research is:
() Searching again and again -
(i) Finding solution to any problem
(iii) Scientific way to search truth
.(iv) None of these "
(d) Surveyis astudy of : .
()" Descreptive (i) Systematic
(iii) Factfinding = (v) Analytical
() The existing company information is the
example of which data ?
) Primary . (i) Secondary
(iii) Both (i) and (ii)- (iv) None cf ihése_
() Howis Random Sampling helpfu| ?
(i) - For more accurafe o, bl
(i) .Economical
 (iii) Free from personal biases
- (i) Allofthese R ‘
(g) Evaluatlon Research is concerned wnth
() How well are we doing
(i) What are we doing

XN —28/3 (2) ¢ FUdegiContd,
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(iit) Why are we doing -
(iv) None of these
() Who can wisefully Conduct Research ?
() -A hard worker.
(i) A post-graduate degree holder
(iii) Stidied Research methodology
(iv) Having thinking and reasoning skills -

(i) Which of the following is not the method of

' _Research ?
(i) Survey . (ii) Observation
(iii) Historical (iv) Philosophical

() What do you understand by the term
“Anusandhan” ?

() Goal-oriented
(ii) Attaining an aim:
" (iii) Following an aim .
(iv) Praying to active an aim
~ Section-B
(Short-answer Type Questions)

" Answer any four questions of the following :

5x4 =20

2. What are the sources of Secondary Data ?

p



B

® e

‘\\l

XN

What Observation ? Explain its type‘s».' ’
Discuss signiﬁcance of Research.

Throw light on the types of Qusiness Research.
What do you mean by sfatistical tccls ?
Explaln various approaches to Research

" ‘Section-C
‘ (Long-answer Type Questicn's)
Answer any three questrons of the followrng

10%3 = 30

What is Hypothe5|s ? Explam various types of
hypothesis. .

What is Questronnarre ? Explaln features of good .
questronnarre '

. What is Interview ? Explaln varlous types of

interview.

. Define the term Sampling..Discuss its varicus '
types. - s

. What is Research ? Explain its objectives.

9
D
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§ . Time : 3 hours
Fill Marks : 70
- Candidates are requ:red to g:ve theiranswers in’
| the:r own words as far as pract:cable
The figures. in the mangm md:cate full marks.
Answerfnom aﬂ the Groups as dmected

Group -A
. (Objectwe Type Questlons)
A Se\ectthe correct answer of the following -

‘ B 1 2x10=20
(a) Research can e|ther be _or
| apphed '
: ~(1) Basic

(i) Fundamental
(m) Pue

y All of these

KJ - 28[_3 T * (Tumover)
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) — s the characterrstrcs 4
research -
( r) Drrect expenence or observatron
(u) Precrse Judgement
(m) Cychcal w0y
| }y) Al of these‘

.(‘?) s an rmportant components of -

screntrf ic enqurry
(!) Ohs,ervat_ron, gl

(i) Hypothesis

(i) Verification |
| (o Alofthese - -
| (d) ;_;_rs nota parf of modem methods ¥
- ofresearch | ; AERCR TR
(i) - Basrc research
(n) Conceptual research o
}) Phrlosophlcal reseach

(rv) Empmcal research

KJ-28/3 (2) Contd.
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) - (e) Atter oo\\ectmg research data |t is .
P
g Tk} nec:essary to _

3 and |nterpret them
(\) Gonclude '

iu) Analyse |
(m) Wnte ﬂndlngs o
L. (w) Observe ' ' )
| (f) . . are. generally lnformatron _
) gathered or generated by the research for ‘

. the purposes of the prolect |mmed|ately at
Lo hand ‘

fo} anary data
(u) Secondary data

(III) Tertiary data |

) (iv) Ready-made data . |
@) Data that have already been co\\ected tor
some other purpose is termed‘ -
- () - Primary data_ |
. /(u) Secondary data
(i) Tertrary data |

(|v) Ready-made data

KJ 2603 (3.)' (Tum over)
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| ’(hs | -_ S - \s treated as the heart of the N
suwey operat\on " i

(\) Obsewat\on

(\\) Secondarydata S ‘

(m) \nterv\ew
(gy} Questlonna\re o |
W) How is random samp\mg he\pful ?
o (\) Reasonab\y accurate
B (u) An - econom\ca\ method of data

co\\ect\on . s

|
5

(\\\) Free from persona\ blases : d

" A\\ofthese -~ _
.0) What is the name of the conceptual
fram_ework_ in which the research is @yned f

n ut'? : e he o

| R _Reseafch hypothesis
(i) ‘S\jnpps"\s of Research_

N ('\‘\'\5 'Réséarch"patad'\gm’

o » Research design

KJ=28/3 . (4). .. Contd.



Group B

(Short-answer Type Questlons)

Answer any. four qUestlons - 5x4 = 20-

2 Defme Research DlSCUSS the process of
Research
3. ‘What do you m'ean by Business Research
Problem ? s |

= 4 Explaln the lmportant scalling techniques.

el 5 erte the |mportance of the Report and

Presentatlon
6. What is meant for Sampllng Errors ?
7. Descnbe the Descnptwe Research Design.

Sectron -C

(Long-answer Type Questions)
Answer any three questlons 10><3 30
! Explaln the dlfferent approaches to Resea‘rch.
| -.9.- What are the Ethics in Busmess Research ?
- D'iscr.ls'sL

k-2 (5 (Tum over)




10. lee a brief note on Causal Research DeS|gn R

1. DISCUSS in detall about the samphng desrgn |
process |

12. ‘How Scholar wnll analyse the collected data '?'_»
.Explaln with a suutable examp!e |

R g
ﬁ—ooo

KJ - 28/3 (150). - (8)  MB—202 (New)

.S
;gs'




COPYRIGHT RESERVED - MB — 203
2023
Tlme 3 hours

FuII Marks 70

Candidates are requ:red to give their answersin
their own words as far as practicable. '

The figures in the margin indicate full marks.
_ Ansiwer from all the Parts as directed.
' Part —A
~ (Multiple-Choice Questions) EEEEY

' 1. Choose the correct answer of the followmg
e, 210220

(i) What is Operatioh Reseérch ?
(a) The study of operatlons ina company

(b) The use of mathematical models and
technlques to solve complex busmess

| problems .
(c) The study of management principles
(d) The use of financial models to predict
business outcomes R
MO -21/2 (Turn ovér)




LI L L FALELA ATV L L0 LT L e .
TR e s e

(i) What is Linear Programming ?
(@) A method for optimizing linear functons
(b) A method for analyzing financial
statements

() A method for'analyzing consumer
behaviour . .

(d) A method for analyzing market trends
(iii) What is the transportation problem ?

\8 A problem in which goods must be
transported from one location to another

(b) A problem in which individuals must be

) transported from one location to another

(c) A problem in which machines must be
transported from one location to another

(d) A problem in which raw materials must
be transported from one location to

another
(iv) Whatis a network diagram ?
@ A mBuZom._ representation of the critical

path in a project

MO - 21/2 (2) . Contd.

(b) A m_.mu.zom_ representation of financial
data

(c) A graphical representation of market
trends

(d) A graphical representation of customer
behaviour
(v) What is game theory ?
: @ The study of mathematical models of

conflict and cooperation between

intelligent rational decision-makers

euv. The study of financial models

(c) The study of management principles

(d) The study of consumer behavior .

(vi) What is simplex method ?
(@ A method - for

, v._‘oo_.ma_.a:m problems
alyzing market trends

solving linear

(b) Amethod foran

(¢) A method for analyzing ::m:o.._m_

, statements .
d A method for analyzing consumer
behaviour .
. . Turn over)
3) (
MO -21/2 (



(Vi) What is the objective funcﬁon in linear

() The solution thaf satisfies all the
programming ?

] A constraints
a) The function being optimi ‘

@ The n being optur_mzed L T (d) The solution that violates some of the

(b) The function that defines the conlstraints " constraints

(c) The function that defines the decision

(x) What is a mixed integer programming
-variables '

problem ?
d) The function that defines the feasibility

(a) A linear programming problem in which
(viii)What is the feaSIblllty region in linear :

some of the decision variables are .
programming ? C

required to be integer
(@) The set of all feasible solutions

: (b) Alinear programming problem in which
©)fhe set Of- ,a" e e all of the decision variables are required
(c) - The set of all optional solutions MR AR

(d) The set of ol pon-optine ppead (c) Alinear programming problem in which
(ix) What is the optimal solution in linear L come of the consraints are fequired to
programmmg ? _ iy .
(a) The solution that maxnmnzes the v

(d) ‘Alinear programming problem in which

function
A hat minimizes the all o{ the constraints are required to be
' I jon that mi
(b) The solution , o
: i ger
objectives function )
: (4) Contd. MO-21/2 o (5) . (Tumover) _
MO —-21/2 _( . ‘ B '




Part-B

 (Very Short-answer - Quesiions) (b) What s the transportation problem ? Explain

.the steps involved in solving it.

2. Answeran jons i
y four questio g =
. .q hs inshort: 5x4 =20 . (c) What is network analysis ? Explain the
Q/What is duality in linear programming ? different types of network analysis.
( 'What is the difference between primal and - (d) Whatis game theory ? Explain the different

dual problems in linear programming ? .« types of games.

(oY Whatis a feasible solution ? yExpraih CPM method with an example.

“(dY " What is the purpose of sensitivity analysis in

X4

2%

" linear programming ?
rence bétweena minimum

(e) What is the diffe
' m flow

cost flow problem anq a maximu

problem ?,

(H Whatis the diffe _
network in network analysis 7

rence between a treeanda .

Part—C
( Long-answer Type Questions)

3. Answer any three of the foMbwing in detail : '

. v 10x3 = 30
’ Explain the steps involved in solving a linear
programming problem, -
MO -21/2 (6).
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| = Time :V3hours .
- Full Marks : 70
Candidates are required to give their'answers in-
their own words as far as practlcable |

The f jgures in the margm lndlcate fuII marks

Answer from all the Gmups as dlrected s

Group —A
(Compulsory)

-
P

S o ,Answerthe'foIIQW|ng questions:* ~ 2x10=20

- (a) .'OR gives Qualitative Solution.(‘l’ e / Falée)

(b) One of the OR phases is the Act|on Phase
- (True / False)

(c) Dlagram belongs to the Physncal Model. .
| ' (True/ Fajse)

. XN=29/2 e i '(Tu'mbver)“




(d) OR imbibes inter-disciplinary Team
approach. ,  (True / False)

(e) Linear programmihg is the tool of or.

- (True _I'Falsé)

(  Solution of decision variable can be fraction.
_ (Tryg / False)
(@ The feasible regioﬁ is a convex set.
(True / False)
(h) Avtificial variable inter as basic variable.
 (True / False)

(i) Dual simplex method was introduded by

ek ST (Trué ) False):

() PERT is activity oriented network. -
(Trye / False)

Group - B

2. Answer any four questions of the following:
' 5x4 = 20

(a) Explain features of OR.

XN =29/2 (2) - . Contd.

@ Highlight advantagés of OR.

(9, Differentiate beween CPM and_PERT
model.

(d) ExplainlNorth-West_Comerrule.

(e) Write a general mathematical mode! of

transportation p_)roblem.

@ Describe modified Distribution Method

(MODI method):
Group-C

3. Answer any three questions of the following :

10x3 =30
(al) Explaiﬁ various objectivés of OR. Discuss
technique' and tools of OR. ‘
(b) Discuss significance and scope of OR in
modem management. i
(c) Throw light on the role of OR model in

decision making.

- XN-292 - (3) (Tum over)



_ (d) Explam the dlfferent models of trans-
portation problem along wnth thelr '
“applications. |

(e) What is Game theory ? DISCUSS Maxnmum

Mmlmum and Mlxed Strategles

- &

@

XN-29/2(150) (4)  MB—203 (New)
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. +-Full Marks : 70-

Candndates are requnred to glve their answers in

thetr own words as faras pract:cable
The fi gures in the margm mdtcate full ma:ks

_ Answgrfrom all the-Groups as dmected.

Group A
| (Compulsory) '
f An_sWerthe_-,foIIowmg questions : 2%10 = 20
; (a) | O‘.'R. gives quéotitativeso\otioﬁ. )
ahF e (T rué/Fa\se)'
(b) AIIooatlon problems are represcnted by
Icomo model. o (l' ruelF)§e)
(c) Lmear programmlng IS'(OO\ of OR.

| T yel,F alse)

Ki-202 ; (Tumo,ver.)' '.




(d) Transportatron problems can also solved by

gﬂ | » srmplex method. . Que/FaIse) ,

| '. (9) lnA P. the constraints are ofequahtytyp -,
| (Iwe/False)

) Pro;ect consrsts of mterrelated actrvrtres
B ame/r-'arse)
(9) PERT and CPM. rdentrfres non cntrcal
o actlvrtes o * | (pue/False)
“(h) PERT is actrvrty onented network
PR e (True/Fglse)
(r) ‘CPMis used for pro;ects that are repetrtrve : i

in nature. (To rueIFalse)

)] Anetwork rnay-include more than one cntrl
path. ' PRI (True/Fgl'se){ :

- Group - B
2. Answer any four qUestrons of tne followrng
= | . 5as 20' |
(a) Explam the nature- and scope of Operatlon

Research,

Ki-2012 (2) - Contd.



(b) What do you ‘mean by Transportatron '
= Prob\ems? Drscuss its |n|t|a| Basrc Feasible |

Sclutrcn

(c) Explaln the applrcatron of Networks in Pro;ect
E Management

(d) Whatis meantfor PayoffMaklng ? DISCUSS |

(e) Explaln the North West Corner Rule

(f) How crltlcal path can be determmed '?

; EXPIarn L E e a
‘ 1, Wy TUEEAD of Group —C

(Long-answer Type Questrons)

" 3 Answer any three questlons of the followrng

10x3 30

(a) Explaln the dutles and respcnsrbllrtles of

personne| in Operatlon Research

' (b) What do you mean by Slmplex Methcd ?

Explam its appllcatron in detall

| (c) leferentrate between Modlﬂed Drstnbut\on
_ethod (MQDI),and Stepplng Stone Method.

KJ—29/2 .. (3) - .~ (Tumover)



¥

_ _,(d) DISCUSS about the PrOgram Evaluaﬂon and
Rewew Techmque (PERT) Model ln detail: -

- (e) Explaln the Game theorywnth thelrdlfferent :

classn'“ cat|on and technology mvolved

<,

i

Ki—20/2(150) .~ (4) ©  MB—203(New)
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Full Marks 70

Cand:dates are mqumed to give their answers in

theirown words as far as practlcable

~ The figures in the margm mdlcate full marks.

Answerfrom éll the Sections as directed.

Sectlon A

(Mulhple-Chmce Questions)

1. Choose the corr,et_:t answer of the fgll_owmg .

2x10 = 20

/

|
i
1

(a) Wha_t is Man‘agerﬁen.t Accounting ?
(i) The preparation of financial statements
(i) - The use of financial information to make

. - business decisions

MO-222 (Tum over)




(iii) The management of financial resources

. (iv) The management of ﬁuman resources
(b) thét is Break-even Analysis ?_
i) A technique for analyzing the profitability
" ofa business |
(i) A technique for analyzing the cost of
| production’ |
| (i) A techhifque fpr éhaljzing the .reven'u'e of
a business .
: (iv)-_A technigue for ahalyziri_g the financial
5 statements '
 (¢) What is marginal cbsting ? )

(i) A costing method that includes fixed
costs

(i) A costing method that excludes fixed
. costs |

- (iii) A costing method that includes variable

costs

(iv) A costing method that excludes variable -

costs

MO —22/2 (2) ~ Contd.




| (d) Whatis Budgeting ?
() The ptocess of creating a financial plan
for a business
(i) The 'proc_éss of prepairing financial
statements |
(iii) The process of analyzing ﬁnanc':ial'data
 (iv) 'Thé process of managing financial
~ resources P » |
(€) Whatis Variance Analysis ?
M A technique:teranalyeing fitianeial
| statehents | '
(ii) - A technique for analyiihg the .pfoﬁtabi\ity

. of abusiness

(iii) A techhiqué for analyzing the variance
between actual and budgeted results
, (iy) A technique for analyiing the cost of .

production

MO —22/2 (3) (Turn over)



® Whatis standard costing ?
(i) A costing method that uses actual costs
(i) A costing method that uses standard
costs :
(iii) A costing method that uses both actual
" andstendard costs '
(iv) A costing method that does not use any
costs o :
(@) What is.a fiexible budget ?
" (i) A budget that is fixed for a particular
. period ) 5
(iij) A budget that is flexible for a particular
) ’ period ;
(iii) A budget thatis fixed for a particular
activity »
(iv) Abudget thatis ﬂexlble fora pamcular
activity ’
(h) What ls a cost-volume-proﬁt analysns ?

(|) An analysis of the relatlonshlp between

cost, volume and profit

- MO -22/2 (4) Contd.

OF

(ii) An analysis of the relationship between

cost and revenue

(iii) An analysis of the relationship between

proﬁf and revenue
(iv) An analysis of the relationship between
cost and profit
What is a cash budget ?
() Abudget thatincludes all expenses and
’ revenues ‘ ' .
(‘ii) A budget t_hat includes only cash inflows

and outﬂowe

~ (iii) Abudget that includes only expenses

(iv) Abudget that mcludes on\y revenues
What is the difference between absorptton
costlng and margmal costing ?

(i) Absorptlon costing includes all costs,

whlle marginal costing excludes fixed

costs

MO -22/2 (5) (Tum over)




(i) Marginal costing includes all costs,

while absorption costing excludes,

variable costs
(iii) Absorption costing iricludes only
" variable costs, while marginal costing

includes both variable and fixed costs

(iv) Marginal costing includes only variable

costs, while absorption costing includes
both variable and fixed costs

Section - B
2. .Answer any four questions in short : 5x4 =20
(3 Whatis cost behavior ?
(b) What is a cost driver ?

(c) Whatis the difference between a direct cost

" and an indirect cost ?
(Q What is the difference between a ﬂxéd cost
: and a variable cost ?

fp')’ What is the purpose of a cost oenter? .
() Whatis the purpose of a profit center ?

MO - 22/2 (6) Contd.

Section-C

"3, Answer any three of the following in detail

10x3 =30

(a) Explain the conéept of Break-even Analysis.

/ How is it useful for business decision-
making ? _

(b) - Explain the diffefence between marginal
costing and absorption costing. Which
costing method do you think is more
appropriate and why ?

(7 What is Budgeting ? Explain the different
types of budgets.

? What is Variance Analysis ? Explain the

i different types of variances. :

(e) Explain the concept and applications of
r'narginél income ac‘:équnting.

X

0.0

W

‘MO —22/2 (150) &y . MB — 204
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the:r own words as far as practlcable

The f gures m the margm mdlcate fuII marks

| Answer from aII the Parts as dlrected

Pafth e

questlons ~ 53 R 2x10'=20
(a) Management accountlng deals wnth
(i) Quantltatqve mformatlon__ B |
" (i) Qualitative information
(iii) Both (i) and (ii
(iv) None‘of.these |

XN=303 (Tum over)

1." Choose -the_. correct answer of the following' -

" MB — 204 (New).

| Cand:dates are requ:red to glve thelr answers in




. is ed
v Ratio
s 5 - (e) Sa .
(b) Who coined the concept of Managemep profit
. f [0) .
Accounting ? ‘ on
0 i o Contributio”
(i) R.N.Anthony . (ii),
o5 5 o : : -+ BEP
(i) James H.Bliss ~ | E (i) == rsaely
i) J.Baty | @) M9 g helps
(iv) American Accounting R ) Cost acC o
: ' ¢ > ontro
() The main role of Management Accounting 20) Cost ¢ .
Sl | : L T (ii) strategic plann géost
) . : s aprovin
()" Decision making (M) pecision ON imp

(i) Planning

(iii) Direction

.(iv) Provision of information to manage- -~ : . i
R : : ey '
. () Scratch pased budgetind
: : ; i :
(d) Contribution'is also known as : - . ot e B

. (i) Share Capital : ‘ (i) Denovd be _g budéetin g S
(i) Gross Profit = (i) Priority based bt

(iii) - Gross Margin ™ - - A _ (iv) Allof thesg

| ) Margin of Saféty * s (3) (Tumover)
XN=-30/3 - (2) Contd.




(i) Rs. 760 Adverse .2
(iii) Rs. 500 Adverse
" (iv) Rs. 100 Adverse
Part B

2. Answer any four questlons of the foMowrng in

short : 5x4 20

(a) Discuss the functrons of Management

Accountlng

)/ From'the followmg data, calculate PN Ratio
. -_Year- .~ Sales = 'Profit ‘
2020~ 1,50,000 20,000
2021 1 70 000 25 000
a (c) DISCUSS the lmportance of PN Ratlo

¥ u What do you understand by budget ?
(e) The standard and actual data of a
manufactunng concermn are glven o

| Standard tlme 2 000 Hrs

(25 \‘{r‘

XN —30/3 (5) "« (Turn over)

S



Standard rate per hour Rs.2
Actual time taken 1:900 Hrs

Actual wages paid per hour

- Rs.2.50

Calculate Labour variance.

Part-C .

Aqswer ‘any three_ quest_iohé of the following in

detail : 10x3 =30

(f.’l Define Management Aecounting. Discuss its
nature and scope. What are its

. limitations ?

9) Define Standard Costing. Explain the étéps A .

involved for installing Standérd Costing

System.

(©) Following are the particular of- S. K. Ltd. '

Year Sales Profit~ -

2020  1,00,000 15,000
2021 - .1,20,000 23,000

XN -30/3 (6) ‘

" “Contd,

Fllnd out:
() PNVrmtio
(ii) Fixed cost
(iii) Break-even point
() Profit when sales are Rs. 1.25,000
(v) Sales r.éq'uired to each profit of
. Rs.20,000 .
kd) Prepére a budget for the production of 8,000

units. The expenses for the budget
~_ production 10,000 units in a factory are

fumished below : :
' _ | ltems " Per Unit
Rs..
Material . 70
Veriable Cost . 25

Labour 20 |

Fixed Cost (Rs,1,00,000) 10

Variable expenses 5
XN - 30/3 (7 (Tum over)



ltems -~ " Per Unit

. | - Rs,
Selling expense '(10%. fixed) | 13
Distributioh expenses (20% fixed . 7
| Admlnustratlon expenses ‘ _5
| Total cost | 7% Tatad 155

(‘) What are the assumptlons of break—even

~analysis ? --"

FNER0BIS0) e L) ) MB — 204 (New)
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" Full Marks : 0

Candrdates are requrred to give therr answers m
thelr own words as far as practrcable

The ﬁgures in the. margrn mdrcate full marks

N Answer fnom all the parts as drrected

Part A
R B Choose the correct answer from the given
altemahves L .. 2x10=20

(a) Which. one ofthe fo\!owrng is not a techmque
" of Management Aocountmg ? :

(|) Break—even Ana\ysrs -
(i) Vanance Analysrs L.

(m) Budgetary Contro\

(rv) None of these

"KJ-30./4" o ; | (Tumover)



(b) Contnbunon is equal to:
(|) Sales-varrable cost
(it;' Sales-fxed cost |
(iii) Sales-proﬁt T

(IV) None of these _'

(c) The dlfference between actual sales and .

. break even sales is ca"ed
_ (|) Break-even Pomt -
(i) -Standard Cost
'(iii) .Margirlal Cost
(|v ‘Margin of Safety
(d) Whlch of the followmg is not the beneﬁt of
budgetary control ? | '

(l) Aid in co-ordmatron :
} Aid in market segmentatron
(iii) lmprovement in planning )

(iv) None of these . -

'KJ-30/4 (2) Contd.




_"(e) Under budgetary contro| detarled analysrs is
possrble " :

») Both of income: and expenses
(n) Only of Revenue RPRAR

(ni) On\y of expenses

(w) None of these

(f) The d\fference between actUaI cost and "
standard cost is known as

: (l) Prof t :
(u) leferentral Cost
}m) Vanance ,
(rv) None of these e h
g Q) Basro standard is establlshed fora
' ‘ Indeﬂnrte Penod
. | (u) Current Penod
(m) ShortPenod o
- (iv) Noneofthese

(h) BEP is that where

(l) There is maxnmum proﬂt

‘:K:J--‘-'30/4.." Ty - (3) o (Tumover) .




(u) Thf=ne IS mmnnuﬁ pmﬁt
)9 There is nerther proﬁt nor loss .; R .
(w) None of these | |

(I) BEPlsequal to
: ( leed Cost
' / P/ VRatuo
o leed Cost. n
(") PIVRatlo %100° -

, P / VRatto
(lll) Fixed Cost:

(w) None of these

(D pN Ratlo |s
N .,c°"t"b““°“x1oo' c
o Sales SR
e ¥ 3 contnbutlon
(“) ~Séles’
" Sales - 100’

('") Contnbutlon
(w) None of these '

KJ = 30/4 - o (4) . Conted. |



: Pa‘rt—'-B
. 2. .Answer any four of the followmg questrons in
'short o e B _' 5x4 20

(a) Mentlon the types of budget that the
management of a big mdustnal enterpnse
- would normallyprepare
- (b) Dlstlngulsh between Fmancral Accountmg
and ManagementAccountmg | |
| ”(c) What is budgetary control ? Explaln in .4 |
5 brief. L | o
R (d) The standard and actual figures. of Ashok

Metal works are as under:
Standard Tme for the Job 1,000 hours ‘
Standard rate per hour Re 0 50 | |
X . Actual tlme takenu 900 hours |
: Actual wages pald Rs‘ 360. 00 |
Compute (i) Labour rate varience.

(n) Labour cost vanence

- KJ-30/40(5) - (Tumover)




(e) The followrng rnfonnatron of XYZ Ltd are.
‘» avarlab!e ' i

- Fixed expenses—Rs 20, 000
NP Variable expenses—Rs 10 per umt
Selhng pnce Rs 15 perunit -

- Calculate [0) BEP in unitand (ii) Sales to eam
| aproﬁt of Rs. 20,000 |

Part C

" 3 Answer any three of the followrng questrons in.
o detarl.-. 10x3=30 f.
' (a) . What do. you understand by Management 3

e Aecountmg'? How does ithelpin Managenal
= _Decrsron Making?" -

~ (b) With the’ followmg data for 60% actrvrty
e ,__prepare a budget for productron at 80%
"ca‘pacrty. : : -
o Productron at60% eapacrty —-600 unrts
| Matenals .Rs. 100 per unit

- Labour— Rs. 40 per unit
- Direct expenses ~Rs. 10 per unit |
 Factory overheads -Rs. 40 000 (50% ﬂxed)

Admrmstratwe expenses ~Rs. 3,000 (60% _'
 fixed) '

K-304. (8) . . Contd. -+




=

(c) What do you mean by Break-Even Pornt ?
How itis: calculated 2. | R
- (d) _-The followrng mformatron of XYZ Ltd are
o ._avarlable '. IO
.-Frxed expenses R325,000
:'.Vanable expenses 2 -R's 20..per unit'
" seliing Pnce .-i 'Rs.30 per unlt
| Calculate the followrng |
‘. »(I) BEP in umts

_ (u) Sales volume to earn a profrt of
" Rs. 25 000 | ‘
(m) What addrtlonal unlts would be
necessary to mcrease the prot” t-by |

Rs 10 000? ‘ |

M —

"0’;

L A

KJ - 30/4 (150) (7) ‘MB—204 (New)
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Candldates are requrred to give ‘their answers in

their own words as far as pract/cable.
The figures in the margm mdlcate full marks. -

Answer from all the §ectlons as dlrected

- .

3 X ' Sectlon -A _
.‘ (Multlple-Chmce Quest|ons)
1 Choose the correct answer of the foI|owmg

2x10 = 20.

(|) Wthh of the followmg is NOT a component
of Workmg Capltal : i '

(a) _Accounts payable
(b) Inventory |

MO-232 " (Tumover)



(c) Accounts receivable
(d) Long-term debt
(i) The cost of debt is also referred to as :
(g) Cost of equity |
.(b) Weighted average cost of capital .
(c) After-tax cost of debt .
~ (d) Cost of retained earnings |
(iii.) A firm's capital stl"ucture refers to': v
(a) Its mix of debt and equity financing
(b) lIts total assets minus total liabilities

(c) The number of outstanding shares of

- stock
(d) The current market value of the firm
(iv) The time value of money is based on the
concept that :
(@) Money today is worth more than money
in the future e

(9) Money today is worth less than money in

the future

-2 (2) Contd

(c) Money today is worth the same a;

money in the future

(d) Money today is worth more or less than

money in the future, depending on the

interest rate ;
Which of the following is NOT a type of

~ financial ratio ?
(a) Liquidity ratio

(b) Profitability ratio

(c) Solvency ratio

(d) 'Operé_tiorial ratio

A company's dividend payout ratio is

calculated by :

(a) Dividing the total dividends paid by the:

~ netincome

(b) Dividing the total dividends paid by the

_ total assets .

(c) Di\/iding the total dividends paid by the
total equity ’

(d) Dividing the net income by the total

dividends paid

MO-23/2 (3). (Tum over)



(vii) A stock's beta coefficient measures :
ga) Its returr\ relative to the markef
- 5b) Its risk relative to the marker
(c) lts dividend yield relative to the rr\arket

(d) lts price relative to the market

(viii) The Weighted AVerage Cost of Capital

(WACQC)is:
(@) The cost of equity financing
(b) The cost of debt financing

(;:) The average cost of all financing

sources weighted by their proportions

(d)_ The cost of retained earnings

(iX) A company'’s inventory turnover ratiois

ca\culated by

(a) Dividing the cost of goods sold by the

lnventory

(b) Dividing the inventory by the cost of .

goods sold .

MO — 23/2 : (4) . Contd.

o\

(©) Dividing the sales by the inventory
(d) Dividing the inventory by the sales
(x) The cost of preferred stock is calculated as:
(a) The preferred dividend dlvrded by the
current market price
(b) The preferred dividend divided by the
. par value . '
(c) The preferred d|v1dend multrplled by (1- .
tax rate)
(d) The preferred dividend multiplied by the
tax rate : '
Section - B :
2. Answer any four questio'ns in short_ v 5%4=20

)/ What is the Break-even Point ?

/ANhat is Workrng Capltal Management ?

Mhat is a time value of money ?

(iv) What is the Modigliani-Miller theorem.?

MO=2312 (5) (Tum over)
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(vi) ANhat is budgeting ? Discuss the different
types of Budgets.
‘/0 What'is BUdget\ng Y

(vil) Explain the concept and importance
- What s Marglna\ Ccst\ng ?

"of capital budgeting in financial

Sgpy ®
ry

management.
SEOMAT Loy, Sectnon c S

4

3 e 4
Answer g any three of the fc\\owmg in detal\

L

L, A0x3=30 *
- (i) - Discuss the varioys ‘sources of flnance

avallable toa company

(ii) Explaln the concept and principles of capltal
structure. -

- (i) Descnbe the dmdend (decision and its
deterrmnants

yWhat is the tlme value of money ? Explam ts . | ‘
lmportance in f nancial decision- makmg '

)/Explaln the concept of worklng capltal

management and the factors that influence it.

_ | : MO -23/2 (150)
MO =22/2 "(6) ~ Contd. -
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T:me 3 hours
FuII Marks 70 .

Candidateéare requned to give their answers in

thelr own words asfaras practlcable
The f' gures m the margln mdlcate Full- marks
An_syyer from q{l_the .Pan‘s as dlreqted. ‘
D T
1. : Choo#e__the _cor'r.gt.':it\'ahswer of the following :

. 2x10=20

| ~(a) | '_'_"a'n‘d"" s — are the two.
versions 6f 'goals of the financial

management of the fi rm

(i) Profit maxlmlzatuon Wealth maxlmtzatxon

: (i) Productlon maxlmlzatlon Sales :

maxumlzatlon

XN-31/3 . (Tumover)

\
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(iii) Sales maximization, Profit maximization
(iv) Value maximization, Wealth maximization
(b) Net working capital refers to: -
(i) Tofal assets minus fixed aﬁsets
: (i) Current assets minus current liabilities
(iii) C_:urrent assets minus inventories

(iv) Current assets

(c) Capital structure is an optimal mix of which ;

" one of the following options ?
(i) Sales and Profit ‘
(i) Debt and Equity
(iii) Current assets and Fi)ged aésets ;
-(iv) None of these

(d) The volume of sales is influenced by

of a fim.
(i) Finance Policy
-~ (i) Credit Policy
(iii) Profit Policy
" (iv) Fund Policy

XN-31/3 (2) 4 .Contd.

©XN-31/3 (3)

| : ‘'share
(e) The dividend irrelevance theorem to sha

valuation was propounded by :
(i) JamesE. Walter : i
~(ii) Myron Gordon
(iii) Modigliani and Miller
(iv) None of them’ .
‘() Stock dividend is also known as :
(i) Scrip dividend '
(i) - Bonus shares - - - - !
(i) Right shares
(iv) Property dividend
(9) Which of the following is not an approach to

the Capital Structure ?

(i) Gross profit approach

(ii)- - Net operating_ihcome approach
(iii) Netincome approach

(v) MM approach

(Tum over)



(h) The concept that value of a rupee to pe

@)

XN-31/3

received in future is less than -t'he :

value of arupee on hand today is known ag :
(i) Recovery factor ooncept

(ii) Time value of money

(iii) Compounding factor concept

(iv) None of these

The difference between present value of
cash inflows and present value of cash
outflows is known as

(i) Gross presentvaluel_ Al
(i) Capital _ )
(iii) Net present value - /...,
(iv) Noneofthese- - ., :;'q..
Which of the following factors aff_ectsthe

Working Capital Requi_rement of a business
unt? e

@i) Nature of busrness i
(i) Credit pollcy
(iii)  Production polrcy

(iv) Al ofthese N tho

(4) Contd.

(@
(b)

@

Part-B

(Short-answer Type Questions)

Answer any four questions of the following :

5x.4 =20
Define Financial Management.

State the factors affecting Working Capital
Requirements.

What do you mean by time value of

: money ?

@
©

.Bneﬂy drscuss about drvrdend polrcy

What do you mean by Wealth Maximiza-

' "“tron 2

Part-cr

; Answer any three questrons of the fo\lowrng

u\) | I

Sziies. B 10)(3 30

‘r\‘

(a) What is Flnancral Management ? Discuss

XN -31/3 P ()

the~ nature and scope of Flnancral

Management

v'(Tum'over)



R

‘(®) Whatis Capital Budgeting ? Discuss the

©

stepsin Capital Budgeting. "~

An investment proposal wm;l& iniﬁally cost
Rs. 25,000 and would generate year-end
cash inflow of Rs. 9,000, Rs. 8,000, Rs.
7,000, Rs.6,000 and Rs. 5,000~in one

' through five years.

" The required rate of retumn is assumed to be

10%.

Calculated Ne'tvbres-,ent vélue :

Year .  PV@10%
oo ks net
A Bt

3 ozst

4 0683 .
5. 0621

XN-31/3 (6) : Contd.

XN=31/3 (150) (7)

(d) A firm is considering on expenditure

of Rs. _60.lakhs for expending its
operations.The relevant information is as
follows :
Number.of g)dsﬁng equify shares = 10 lakhs
Market value of existing share = Rs. 60

Net eamings = Rs. 90 lakhs

Compute the cost of existing equity share
capital and of new equity Capital assuming
that new shares will be issued at a price of

- Rs. 52 per share and the costs of new"

issues will be Rs. 2 per share.’

R/
L X4
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Time 3 hours ; N
F'rrll lM_a'rk.‘s : 70 ’
Canerdates ane requmed to grve their answers. in
thelr own words as far as practrcable
‘ The f‘gunes in the mangm mdrcate full marks

Answer from aH the parts as drrected

Part A

1. Choose the correct answer from the gwen

altematwes 2X10 20

(a) Investment dec|sron mclude
| (I) Expansrcn of exrstmg busrness
(n) Expansron of new busmess |
A ; (m) Replacement

© (v) Alofthese

k=313 e, g (Tumover)



'(b) Retained earnings is | it .".a'c'dst."'
free source of capital. B o
() Not
(ii$- Sometimes .|
(m) Compulsorlly

(|v) Consnstently

(c) Wh|ch one |s not an |mportant objectlve of

. Flnanmal Management ?

(u)_ Wealth Maxnmlsauon »
(iii). Value Maxtmisaticn hih
/(N) Maxumlsatlon of socnal benef‘ e
(d) The concern of the fmancmg decuswn is
with : '
"(r) Cost of capital "
(i) Capltal budgetmg
“(iii) Assets structure

(iv) Capital structure L

KI—31/3 (2) - - contd. '



Fi nancual dec:suon lnvo'lves' X

(|) nvestment flnancmg and leldénd. |

demsuon
(u) lnvestment fmanoing'.a'nd.ssales
dec:smns . |

| (m) Flnanelng dlwdend and cash decrsions

(w) None of these T .' B
(f) WhICh one of the followmg,is.a method of .
Capltal Budgetary? S

Net present value method o

(n) Payback penod method

(m) Intemal rate of retum method

All of these

(g) Workmg Capltal Management deals wnth

_(:) Cash Management
., (u) ‘Inventory Management
(iii) Receivable Management

('V All.of fh'esé s

KI=31/8 (3) (Turn over) |




(h) Lévé;[age may be': 2 .
r ~ () *Operating Leverage
P ’.(,i'i). "Finanqial _Leve“fage"
i) Combined Leverage
) Alof these

, (|) Whlch one of the followmg is not consndered

whlle formulatmg d|v1dend policy of a
- company Y

P () Nature oflndustly
| (u) Age of the Company
.(m) Taxatnon Pohcy | |
N (w) CaprtalStmcture o

o (e Whlch one of the fo\lowmg ls wxdely used

A techmque of mventory eontro\ 7
/W ABC Ana\ys.ls
| (u) Lock Box System

(m) Concentratlon Bankmg

(w) Proﬁtab|||ty \ndex !

__K;J;-31/3 . (& . Comd



~Part=B

2, Answer any four of the followmg questlons in
short - T e B 5x4 20
(a) Compute the ﬁnancral Ieverage based on the

gwen data betow .
Networth Rs 25 00 000
DebtlEqurty 3 1

Interest Rate 12% L
Operatrng Prof t— Rs 20 00 000

()] Bneﬂy dISCUSS about vanous components of
3 workmg caprtal '

(C) What is the rmportance of frnancral
management‘7 o :

' (d) Whatdoyou mean by capltal structure’? e |
(e) Exptarn the factors affectrng dnndend pohcy_
' Part C " -
g, Answer any three of the followmg questrons in.
‘ detarl R L il A 10x3 30

(a) Crmcally evaiuate the' Modrglram and Millar .
Theory on Capltal Structure o g

AKJ_1;V31/3 | o (5) | - (Tummover) -



(b) Define Frnancral Management Dlscuss the
functions of fi inancial management

| (c).. Calculate Operatmg Leverage Fmancral. - %
r Leverage and Combrned Leverage

| A T Rs.”
.Sales~(100 imits) - 50,000
" Variable Costs d 25,000

Fixed Costs R 15000 B
o Interest - o sooo' |
: (d)' A choice is to be made between two E
L competrtrve prejectswhrch requrrean equat. W
~ investment of Rs. 50, 000 each and are . - f
| Aexpected to generate net cash mﬂows as s
~ . under: ' : - 3
 Endof the Pro;ect I Pro'j._.e;ét__—zll. :
Year - ~Rs.. Rs.
e _.".25’.000 > 10'000 .
TUU45000 | 12000
10000 18,000
- Nil - 25,000
12,000 - 8,000
G000 - 4000 -

®» o A W N -l\‘

,KJ~;31/3: A (6) ) .Contc.l. :



Thecostofcapltal |s10% You are requlred;_ Dy
to suggest Wthh pro;ect |s to be preferrar’_ . ﬁ
on the basns of (l) Payback penod a'w* L
(u) NPV : s o gt
Year “ PV@10%
K E 0909'-.- .
0826
© 0751
. 0683
0621
~ 0.564

'-__KJ,.-.3_1/3'(1'50)- (T .“-_.:z’o;sl(Néw)' :
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Full Marks 70

Cand:dates are requrred fo glve thelr answers in
thelr own words as far as practlcable

" The _ﬁgures in the margin lndlcatefull marks.
: Answer from all the Sections as directed.
Sectnon A |

M. Answer the multlple-chmce questlons
2x10=20"

(@) What is the ﬁlst step in pro;ect management ?
(i) Pro;ect plannmg :
(ii) Project execu_tlon
~ (iii) Project monitoring
(iv) Pro;ect initiation.
- (b) Which of the followmg is not a prolect

constramt ?

.(l) Scope_

MO — 2412 (Turnover)



(ii) ﬂr}'\e
(iii) Cost
(iv) Quality
(c) What is the 'critical path in a project network
diagram ? ‘ :
(i) Thelongestpath m the diagram
(i) The shortest path in the diagram
(iii) The path with the most activiﬁeé
(iv) The path with the least activities '
(d) Whatis the pufpose of risk management in
- .project management ?
(i) Toeliminate all risks associated with the
project
- (i) - To reducg the impact o-f risks on the
project
(iii) To ignore risks and proceed with the
project
(iv) To increase the likelihood of risks
occurring '

MO-24/2 (2) Contd.

(e) What is the formula for calculating net

®

(@)

present value (NPV) ?
(i) NPV =Present value - Future value
(i) NPV = Future value — Present value .
(iii) NPV = Present value / Future value
(iv) NPV =Future value/Presentvalue
Which of the following is not a type of project
organization ?

() Functional

(i) Matrix

(iii) Network '

(iv) Projectized .

Which of the following is not a phase of

project management ? '
(i) Planning

(i) Execution

(iii) Monitoring and control

"(iv) Completion o

MO — 24/2 © o (3) (Tumo

YRR ——



(") Which of the following is a tool used for

project time management ?
(i) Ganttchart -

(iij Pareto chart

(i) Conirol chart

(iv) Scatterdiagram

(i) Whatis the formula for calculating payback
period ? ’
() Payback period = Investment / Net
income |
- .(ii) Payback period = Investment x Net
income
(iii) Payback period = Net income /
Investment
(iv) Payback period = Investment / Cash
inflows
G What is the main objective. of project
* management ?
(i) Tocomplete thé pr_oject within the givgn
~ fime
MO —24/2 (4) , pand.

MO-2412 (5)

(i) To complete the project within the given

cost

(i) To complete the project within the given

scope

(iv) Tocomplete the project within the given

time, costand scope

Section-B'

(Very s_hort-ahswer Type Questions)

2.. Answer anyfourofthe fol'lowihg: . 5x4=20
ia// Whatis project ménagément ?

(b What is market feasibility study in project
management ?

}és Whatis technical feasibility study inproject

management ?

" (d) What is financial analysis in project

management ?

(Tum over)




¢
(e) Wllat iS a WOI'k br I :
C eakdow Ex| ,
A n structure » (e/) plain the steps inVOIved in pI'OjeCt planning_

(WBS)?
® Wh - and implementation.
at is the criti i . ,
cal path methpd . g Vst 15 projoet Teview ? How [s

(CPM)? :
| conducted ? Why is it important.

Section-C ’
' £ ; - o0

(Long-answer Type Questions)

A 3 Answer any three questions : ~ 10x3=30

(Y Explain the concept of project manage-
ment and its importance in modern -

organization. .

(b) Decribe the stepé involved in conduc-

* ting a market feasibility study for a

project.

(c) Explaintheprocess of conducting a technical

feasibility study _for aproject. :
cial analysis in project. '

(d)- What is finan
t different from '

? How is i

management
financial accounting? -

MO — 24/2 (6) i MO-242(150) ©  (7) * MB—206
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Full Marks (1 W

.Candidates are required to glve thelr answers in
theirown words as faras practlcable

The figures in the margin mqlcate full marks. '.

Answer from all the Parts as directe_d. a

Part-A

(Compulsory)
1. Select the correct answer of the followmg
[ | AT .- 2x10=20
(@) What are the respon3|b|llty of a Pro;ect
Manager ? A -
() Planning
* (ii) Organising
(iii) Contr’olling |
(iv) All'of these :
(b) A project is concerne W|th |
g _(|), Quality . (i) Time
(i) BUdg'et . (v) Allofthese
XN-32/3- .7 . (Tumover)

(4



{c) “Factors affecting projectis :
(i) Lockout '

(i) Shortage of material

(iii) Powercut
(iv) Allofthese
(d) Phases of project life cycle are : - ;
() Cleanupphase’
" (i) Rest phase
(iii) Slow-down phase
(iv) Go slow phase

(i) - Technical feasibility

(ii) Social feasibility -

(iii) Relation feasibility
~ (iv) Motion feasibility

from:

(i) Pér_forménce of existing industries
(i) Availability of Raw Material .

(iii) Availability of skilled labour *

(iv) Allofthese’ KL

XN=32/3  (2) Contd.

(e) Which one is the type of feasibility analysis L

"(f) Sources of new project ideas may average

(g) Importance of project management s dueto :
(i) Corporate downsizing
(ii) ‘Development of third world

(iii) Global Composition
(iv) ‘All of these
(h) Which’one of the following is project
* scheduling and progressing techniques ?
~ (i) Barcharts _
"(ii) Project Execution Plan’
(iif). Control Room
" (iv) Cost BenéﬂtAnaIysis
‘ '(i) Plant Léyout is governed by thg principle :
| 0} Flexibility '
(i) Flow
- (iii). Safty
(iv) Allofthese -
") - Project can be classifiedin : ‘
~ (i) National Project
(i) Industrial Project
(iii) Joint Project
(iv) Allofthese

XN-323 - (3) . (Tumover)



/0 Part-B
. /2. Answer any four questions of the iollowing :
W " 5x4=20
~-(a) Explain the concept of Project Management.
(b) Highlight the factors of site selection;
(c). Exb|ain demand forecasting technique.

(d) What do you. understand by Market
~+ feasibility ? -

(e) _Explain the concept of 'Break Even Analysis.

Part -C
3. Answer any three questlons of the followrng
. - 10x3 = 30
(@) D'eséribe 'Varicus'bhases -.cf Project Life
Cyclein bnef

(b) What do you mean by Project PIannlng ?
Describe different steps involved in Project

.Planning. . .
(c) What do you understand by Project

Financing ? Explaln |ts advantages and

disadvantages. '

(d) What do you mean by Plant Layout ? Focus_
on different types of plant layout.

\/
0.0

XN=32/3(150) = (4) . -MB—206 (New)
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Candrdates are requ:red fo grve thelr answers in

thetr own words as far as practrcable

The figures in the margm md:cate fuII marks

Answer fmm all the Groups as drrected

e Group—A

(Ob]ectnve Type Questlons)

1. Selectthe correct answer of the followmg
: | 2%10=20

(a) TeehniCai :Analysis br‘oadly involves :
@ Materalinputs -
(i) Technology

(i) Product MIX s
.',(N) Allofthese A

_ BT R AT R s s s _

KJ=32/3 (Tum over)
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(b) What. are the responsublllty of a Pro;ect

Manager?
"(l). Planning .
(i) Organising’
(ii)- Controlling
(v) All of these
(c) Project ca,ri;be,.cla.seiﬁed_in' :
(i). Nafional broject" o
(u) lndustnal pro;ect
(m) Jomt pro;ect

(nv) Al of these |
(d) PERT uses time estlmate for an actlvnty_

these may.be':
() ‘Opti,mistic time
(i) Mostlink time .
(i) Pés‘sirhiStic time.
(iv) All of these.
(e) Advantage of CPM lS '
(:) To Provide an analytlcal approach

(i) To encourage Management

KI-323 (2) . Contd.




(i) To enable forward working - - -
(M To resehedu\mg the actwlty |
m '\'he s\at\st\ca\ method whlch are frequently

used ior mak\ng demand prolectlons is :
R Graph\c method S

(\\) Se\ect\on method .

(\\\) Target method
) Record\ng method L
(g) \nformatton sought m market survey is |
H concemed wwth _ e
RO} "ota\ Demand
(n) Motlves of Seller J
(m) Total Supply 3 | _
(w) Allofthese ) » -. i
(h) Whlch one is the ;(ype of fea51b|hty anaIyS|s ?
(i) Technlcal feaSIbllity -
(n) Socual feaS|b|I|ty
(ul) Relatlon fea3|blllty
(lv)._ Metlo_n feaslbllpty. =g,

Ki-3213 - . -(3) . (Tumover)
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[ A
:_ _(c) Throw Ilght on pro;ect feaslblllty Report
. ._(d) What is Break-Even Analysus ? |
LS _(e) What do you mean by Pro;ect Evaluatlon 7
5 '_ Sectlon c: i
(Long-answer Type Questlons)
3 "'Answer any three questlons ofthe followmg -
S e T e 10x3 30_ _
(a) Whatdoyoumeanbymonltonngofapmject?:""-_-
*r: Focus on the need ofmonttonnga project. -
N (b) What should be the qualltles of pro;ect’ hE
3 e o manager y 4 Explam ‘his role and
IR A responslbllmes : 1 I
o ._._'.(c) What ls meant by snte Ioeatlon ? Explam ¥y
dlfferent factors mﬂuencmg S|te locztlon :
(d) What is Plant Layout ? Explam vanous types
of p!ant Iayout
: 0:0 —
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